1.

RETFAN XN HE EBE o1

ROFEEZF L. (SHK20, Af35#, BRE50#W, CH1520%)

(1) log,8 (2)  log, 8 +log, %

(3)  logy2—log, 18 (4)  logs 10 + logs 15 — logs 6
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2. ROHEEEE (ST, AR5, B14, CH1330%)

(1) log, 16 (2)  logy 3+ log, %7

(3)  logs2 — logs 250 (4)  log, 60 — log, 40 — log, 48
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1.

RETAL X HE EBEE 01 BEHES

ROFEEZF L. (SHK20, Af35#, BRE50#W, CH1520%)

* HEDHE (JE% 1 TlEARVIEDFEE e & T 208w T )
M>0,N>07T, kDPFEHTH2 L Z,

® log,1=0

@ log,a=1

® log, MN =log, M + log, N

@ log, % =log, M —log, N

® log, M* = klog, M

(1) log,8 (2)  log,8+log, %
— 3 _ 1
= log, 2 = log, (8 X 5)
= 3log, 2 =log, 4
=5 3 X ]. = 1
=3

(3)  logy2—logs 18 (4)  logs 10 + logs 15 — logs 6

2 10 x 15

= 10g3 ﬁ = 10g5 6
= log 372 = logs 25
= —2log; 3 = 2logs 5

© B - BEERL L7 o1 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

(1) log, 16

= log, 2*
=4log, 2
=4x1

=4

(3)  logz2 — logs 250

log, 2
= 1985 959

=logs 573
= —3logs 5

- -3

ROFEEZE L. (SH21H, Afeas5#, Bf14r, C#15 30 )

1
(2)  logg 3+ logg 57

= logy (3 X %7)

= logg 97!

=1

4) log, 60 — log, 40 — log, 48

60

= 1082 75778

= log 1
232
=log,27°

= —blog, 2

=5
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